[ —

OKD-350M
g oa U R b




OKD-350M &@YUA (£4H)

%1

1680218 TDHETY

'S m E1%C< &%

@ | RINGPIR 2 | % OKD-R350

@ | A= 6 | D30x45x8

@ | 7>y 1

@ | e 1

® | RFUVY 4 | 6006 > —)LH

® | ¥v7h 2

@ | FiTHE— 2 | 7Tx8x25 A,

N7V TEZ 2

@ | Nk 2 | A-40

O | IFy—@7—y 2 | 8-A-T

O | E® 3

@ | ®E—5A7—1 2 XERLESR

® | =% 2 | =% E# SF-JR 0.2kW-4P-200V
@ | JL—L 1

® | BfEHH 2 | \YN—Fr25— 420S-R100
@® | g~ 2 | $4x25

@ | =iw 2 | 7LRX¢200

E—HIR—2R 2

'S m E%C< &%

O | "ARILL 2 M10x40 PWfF

® | RARILKL 2 | M10x20 SWt

@ | ARk 4 | M10x25 SW-PW-£Nff

® | RARILL 8 | M6x15 SWH

6 | RAamILL 2 | M6x20 SWAf

@ | ~ARILKL 8 | M10x20 SWft

® | RARILL 2 | M8x70

@ | RARLL 8 | M6x20 SW-PW-Nf

0 AR 8 | M10x25 SW-PWft

xGEED

DR 50Hz 60Hz
9 | E=57—-Y 2 Vo-A-1 2-A-1




OKD-350M

BisaBRY 2~

\4

©

U

()

OKD-350M &=&mY A
iRES

BA
ajo

ik (i

TL—HRAYF

2 =Z%EH MB30-CS 3P 1.4A

BEHBOX

HET3 OAS12-153

e

EHSEH TR10K-11P

BEI—R

Z/)\O>Y 7k 1.255Qx4Cx5m

GHSHONONS)

727

_ | |

FME& CE-320E-P

’\1 [RoTIXD#mzRlD

'@‘

~
%5 - 12 2 T541-0052 KBRAIPRRZLEIZT BE4-5 FABEIL703 06 (6227) 8001

JNIBE %P T210-0803 @) E)1IEH)IFX)|f&E2T B6-3 8044 (266) 2771
LHEEZ T476-0006 E A0 B & B mx W3 T B 121 2052(604)0780
= KIRE T T573-0131 KRB M AT EBH2T B4-37 B072(859)5911

http //www.okasankikou.co.jp

BEEZEM T811-2317 EASEEBILENRERE4-7-8 ©092(938) 7222
AR I 4% T573-0131 RKIRR WIS HEBEH2T B4-37 ‘8072(859)5751j

22hR 2021478
-3-




